g‘% DOWNLOAD COLOR
ESEl INSTALL MANUALS AT

www.dieselperformance.con

BD Cobra Compound Turbo

2003-2018 Dodge Cummins

Cobra 76 400 - 800hp
Cobra 80 450 - 1000hp
Cobra 86 550 - 1100hp
Cobra 88 675 - 1200hp

Pre-machined BD turbocharger compressor covers and turbine housings
are required for easy assembly.

2003-2012 trucks: I f you have a stock intercool er
boot and clamp (PN 1453221 & 1405211).

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 2

Order Guide

BD Cobra Kit
Secondary Turbo Primary Sugg.
Kit PN Years Turbo Turbine Turbo Boost
1045780 03-07 361 SXE 76mm- 1.0AR 476 SXE 72
1045781 08-09 361 SXE 80mm- 0.9AR 476 SXE 66
1045782 10-12 361 SXE 80mm- 0.9AR 476 SXE 66
1045795 13-18 361 SXE 80mm- 0.9AR 476 SXE 66
1045783 03-07 364.5 SXE 80mm- 0.9AR 480 SXE 80
1045784 08-09 364.5 SXE 80mm- 1.0AR 480 SXE 75
1045785 10-12 364.5 SXE 80mm- 1.0AR 480 SXE 75
1045796 13-18 364.5 SXE 80mm- 1.0AR 480 SXE 75
1045794 03-07 366 SXE 80mm- 1.0AR BD 486 87
1045786 08-09 366 SXE 80mm- 1.0AR BD 486 81
1045787 10-12 366 SXE 80mm- 1.0AR BD 486 81
1045797 1318 366 SXE 80mm- 1.0AR BD 486 81
1045793 03-07 S467 83mm- 1.0AR 488 SXE 95
1045791 08-09 S467 83mm- 1.1AR 488 SXE 87
1045792 1012 S467 83mm- 1.1AR 488 SXE 87
1045798 13-18 S467 83mm-1.1AR 488 SXE 87
Potential Crank Horsepowe| pax Flow | *RPM | **Transient
Name Inducer Size | Min Rated Peak (Lb/min) | to Spool| Response
BD Single Turbo K&uide
Super B Single 58mm 200 400 450 57 1250 0
Super B KilleBXE 61mm 250 500 525 77 1800 15
Super B Special SXE 63mm 300 550 600 79 1750 32
Super B 600 SXE 64.5mm 375 600 650 82 1750 35
Super B 650 SXE 66mm 450 650 675 87 1925 39
Super B 700 SXE 69mm 575 675 700 98 2125 44
Rumble B 369 SXE 69mm 575 675 725 98 2125 44
Rumble B 467 67mm 575 675 700 92 2225 43
Rumble B 472 SXE 72mm 600 775 800 110 2375 57
S476 SXE 76mm 700 825 850 121 2550 63
S480 SXE 80mm 800 925 950 134 3050 75
BD 486 86mm 900 1000 1050 144 3050 80
S488 SXE 88mm 900 1075 1125 160 3325 79
S588 SXE 88mm 900 1100 1150 162 3450 85
S594 SXE 94mm 1100 1275 1325 187 3850 87
K44 107mm 1300 1400 1500 197 4950 95
BD Compound Turbo K&uide
Tow Twin 58mm/66mm 250 600 625 78 1150 5
RT700 58mm/71mm 300 675 700 98 1250 10
RT850 64.5mm/74mm 400 800 850 103 1675 39
Cobra 76 61mm/76mm 400 800 900 124 1650 27
Cobra 80 64.5mm/80mm 450 1000 1050 134 1700 36
Cobra 86 66mm/86mm 550 1100 1200 144 1800 46
Cobra 88 67mm/88mm 675 1225 1400 160 2100 49
BD Triple 74mm/2x74mm 800 1525 1600 204 2200 64

*Rpm to Spool i Based on a stock 5.9L Cummins
**Transient Response i Relative comparrison for turbo response
Sugg. Boosti Suggested boost (psi)

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 3

Table of Contents

(@70 [T o TN Lo [PPSR 2
Table Of CONLENTS......coi e eeara s 3
a1 oTe 18 [ox 1[0 o PP 3
Recommended FUEBIING ... e 3
SO0 1 (=7 1 £ 4
MOUNEING HAIAWAIE ... .ceeiiieiei e e e aan s 6
BOOtS @nd ClamPS ......iiiiiei e 8
S400 Secondary Mounting Hardware .............cooevveiiiiiiiiiieece e 8
S300 Secondary Mounting Hardware .............covvveiiiiieiiiiieee e 8
Additional Year Dependant PartS.........c.ooouuiiiiiiiiiieee e 9
2003-2009 ...t arr e 9
2000-2002 ... e e et et aees 10
P20 T 0 L SR 11
8IS T 1[0 ST 13
REMOVAL ...ceiiee e e et e e e eaaaa 13
INSTAIALION ... et eaaaa 22
INSTAlIALION LAYOULS ....cceeieeeiie et e e e e e e e e e et e e e e e e e eenn e e 41
Turbocharger Oil Feed/ Drain Layout (Primary/ Secondary) ........cc.cccceevvnn.... 41
CoO0lant LINES LAYOUL ........ccuuiiiieiieeeeis e e e e e e e et e e e e e eann s 42
Turbocharger and Piping LayOuUL.............ooiiiiiiiiiiii e 43
Air Box & Battery Tray LayOuUL.........coovvuuiiiiiiii e e e e e e 45
TrOUDBIESNOOLING ...cceeee e 46
1S = 1L ] £ 47
Secondary Turbing HOUSING.........ooiiiiiiie e 47
Primary Turbing HOUSING ........uiiiiiiii e 47
Secondary Compressor INIEt..........ooouiiiiii e 47

Introduction

Built for both a mild 400hp truck to an all-out 1400hp monster, the BD Cobra kit is
designed to offer the turbocharger solution that can grow alongside your horsepower
aspirations. The BD Cobra kit offers a bolt-on kit that includes everything needed to
keep your air-conditioning, stock battery location, stock shock tower, and comes with
a wastegate ready manifold to blow past the competition.

Every turbo kit comes with a pair of BD matched turbos which are designed to
maximize turbo response and top-end airflow.

Recomm ended Fueling

Injector Size HP Fuel Pump Max Primary

(% Over) Turbo Speed
Cobra 76 43 R900 12mm CP3 115,500
Cobra 80 53-93 Dual fuel stock CP3 105,000
Cobra 86 103 One stock CP3 + One R900 12mm CP3 93,000
Cobra 88 103+ Dual fuel R900 CP3 105,000

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019

1045996-T4

1045986-T4

1045780-98 Dodge Cobra Turbo Kit (1-00377)

1405445

Manifold; 20deg T4

Qty: 1
1405438

1405442-1

Gasket Set; Exhaust Manifold
1

1453522

Bracket; LP
Turbo

Qty: 1
2405021

Battery Box

Q
2925

Air Box

@
1453105

Blanket; T4 Turbine

@
1453106

Gasket; T6
Dual
®

1405434

p—

50 Air F
J
1453130-B

Oil Drain-Primary

(D
1453820

Oil Drain-
Secondar
0

1405453

Coolant Tube
iP5/ 80
O
1453514

| Qty:200

Air Intake Seal

Bracket; Front
Mount

& Qty: 1

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com

He a't Wr




16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 5

1453504 1453724 1453725 1405441

Tube; 6.71
PCV
Qty: 4 Qty:1 Qty: 1 Qty: 1
1405440 1405432 1405435

Zip Tie; Stainless

Bracket; Dipstick Coolant Line

Cobra Downpipe Mid Pipe; Primary Outlet | Mid Pipe; Secondary Inlet

- Qty:1 Qty: 1  oty:1
1405431-ASSY 1405447

a)

Pi pe; 50 I nt Downpi pe; 50 E)

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 6
Mounting Haradware
11864 1100111 1120124 1120126
9 _
> 4 % TV T
Washer\; Flat Bolt: M8x20 Ge a r Cl amf
I O 1. 50

1130182

1302198

-4/’

Bolt; M6x16

Bolt; Flange
M10x25

Clamp; Spring
26mm

Bolt; M10x20

1453735

1401553 1401589 1402608
‘!«.-'I' , B v | /;
Nut; Manifold M8 Plug; M16 Washer; M6 Cl amp; 1.
Fender
Qty: 1 Qty: 1 Qty: 2 Qty: 2
1453117 1453126 1453127 1453135
Washer; 10mm | Fitting; ORB x -6JIC

1462441

1453137 1453162
Dinn- ] Fitting; -4NPT x | Fitting; 1/2 NPT x ,
O-Ring; #010 Buna-N 6JIC 5/ 806 Ba Nut; M10
Qty: 1 Qty: 2 Qty: 1 Qty: 2

BD Engine Brake Inc.

Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2

U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 7
1900037 3008468 1453723-3 1453726-1
0 4
S
: . i | Fitting; 3/ANPT x _
Bolt; M6x12 Pl ug; I 1-1/8 Barb Gasket; MAF
1453726-2 FT-0173590 FT-0413922 FT-0424690
Gasket; IAT Bog; f'iz’é 5| O-Ring; #152 O-Ring: #244
Qty: 1 Qty: 4 Qty: 1 Qty: 1
FT-11116245 FT-11127064 HS-96
= / %%
Bolt; Flange M8x25 Bolt; 3/8x1-1/4 Clamp; Gear 5-7 0
Qty: 2 Qty: 2 | Qty: 3
1120125 1453155
Cl amp; 10 | nsu O-Ring; #216 Nitrile

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 8

Boots and Clamp s
1401563 1405211 1405212 1405625

V-Band; 4

Boot; 3.5 Clamp;3.0-3. 3 8 Clamp;3.56-3 . 9 oD
Q Q Q Q
90368B 99502-0588 99800-0450 P103516-1

Boot; 5.5-5 0
: : Qty: 1

S400 Secondary Mounting Hardware
1405439 1462431 | 1462429 | 1462441 RG-VT10481

: Stud M10- | Stud M10- | Nut M10- .
S400-T6 Hot Pipe 15y 25 1535 1.5mm 4 . 8 Band\Clamp

Qty: 1 Qty: 2 Qty: 4 Qty: 6 Qty: 1
S300 Secondary  Mounting Hardware
1405454 FT-32826 | 1452429 | 1120033 | 1462441 RG-10216-1

SXE-T6 Hot Stud- | StudM10-| Nu't 3 Nut M10- 4 . 2-Band/
Pipe 16 1.5x 35 NC 1.5mm Clamp

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 9

Additional  Year Dependant Parts

2003 -2009
1401532 1453221-1 1401563 1405212
S300 Only S400 Only

Boot ; 2. 7 Boot ;3.350 Boot ; 3. 5 Clamp; 3.56-3 . 9
® ® ® / O
1405437 1405446 1456740

1456140
5.9L

Tube; 3. 509 ¢ Coolant Line; TCC Plate; MAF
® O O

1604056 1405442-2 FT-69884

v

Heater Ho s ¢ Bracket; Air box Fitting: 1J

Qty: 1

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 10

2010 -2012
1401532 1453221-1 1302425 1400113
S300 Only S400 Only
_ _ . _ Cl amp;
Boot ; . Boot ; 30 Boot ; 3. 2
Insulated
O ® ® ®
1405212 140#5426 1405427 1405428
Clamp; 3.56-3 . 9 Tank; Coolant Hos e 10| Pl ug:; 10
® ® O 4 Q 0
1405433 1405446 1407030 1505001
Tub 81;2 Coolant Line; TCC | Clamp; 3.28-3. 6 | Cl amp ; G¢
O ® ® ®
1604056 1405442-2 1453723-1 1453723-2

v

Fitting; Coolant x Fitting; Coolant
Barb 90 Clam

Heat er H o| Bracket; Air box

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 11

2013 -2018
1401530 1405305 1405209 1405211
S300 Only S400 Only S300 Only

Boot : 2. 7 Boot ; 30| Clamp; 2.75-3 . 0| Clamp; 3.0-3. 3

S300 Qty: 1
S400 Qty: 2

1040142 1400113 1405465
Fitting: Heat Shield Cl amp; 1 Tank; Coolantw/
Insulated Sensor
® ® O ®
1405456 1405457 1405458 1405459
Tube; 3. Bracket; Air Box | Coolant Line; 13-18 Bracket; Trans Ol
13-18 Front
O ® O ®
1405462 1405463 1405464
N

a7 *
Sensor; Coolant (Inserted
into 1405465

Qty: 1 Qty: 1 Qty: 1

Bracket; Trans Oil Rear Plug; 3/ 80

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com



16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 12
1406107 1407030 1505001
Boot; 2. 75¢ Clamp; 3.28-3 . 6 3 ( Cl amp; Gea
Q Q Q
1604053 1453723-1 1453723-2
Hos e; 3/ § Fitting; Coolant x Barb 90 Fitting; Coolant Clamp
Qty: 210 Qty: 1 Qty: 1

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2

U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com




16 July 2019 1045780-98 Dodge Cobra Turbo Kit (1-00377) 13

/nst ructions

Removal

VEHICLE SHOULD BE SAFELY SECURED BEFORE INSTA

1. Drain CoolantDisconnect
batteries and raise
vehicle.

2. Remove passenger side
front fender and wheel.

3. Remove engine cover (4

bolts). —> {——

4. Disconnect sensors and
remove the air box and
intake hose. Remove the
air filter inlet hose from
the turbo inlet.

5. Remove the EGR cross f

over tube by removing the
two clamps.

BD Engine Brake Inc.
Plant Address: 33541 MacLure Rd. Abbotsford, BC, Canada V2S 7W2
U.S. Shipping Address: 88-446 Harrison St, Sumas, WA 98295  U.S. Mailing Address: P.O. Box 231, Sumas, WA 98295
Phone: 604-853-6096 | Fax: 604-853-8749 | Internet: www.bd-power.com









































































































